[image: image1.png]L 2018 SEBMy g B PR S A

B ¥
ARESHA RSB EBIYG A K 1 545,840 1005;BES 26 7, B2 604,
A KA 160 4, K KeHR 120 4,

R

1 B AR ST LR F R,

2 PRI S RLRBIT AT LI e I b, kG L SRR
3 ARG, BAARREREHE — i,

A% (%1004)

— AR (R AER2ME, BNE 5,336 4. ESNELHORTERF,RF
—RRFAMBAERNY.)
1. -3 BRHIY

L L
A -3 B.3 C. i D. 3

2. /MR FRAE R KM, IR SOAKAE I £9 0. 000326 2EXK, FIFH 2 R0E T 5

A.3.26 x10"2%  B.0.326x10 K -
€.3.26 x10 /% D.32.6 x 10~k
3. PR IE RO RTRIFE , R 5™ U PR 0 [x]

Ak -B.JC
cx 0.3 W R & l
4. TR ERNR e

Aa+a=a’ B.(2a)’ =62’





[image: image2.png]33 ammc AAB,C, L, ELAERILN 1 23, AABC 5AA,B, c. MBS
Al: B.1:3 C.1:6 D.1:
9. ﬁTTWl’mm 2018 wﬂ##ﬂaﬁx&ﬁmmm,wvmm 400 4452
ORI TS 7. i M FER R
A.400
B. AR 400 £ %4
C. A 400 4% 2 4 BF AL
D. (5L 2018 SFrfr Bk AR
10, ZESTCH R E 0 FIMERFHH S BT AAT K /KN AR ST ) L e, 15
B A BT — S, N IS RSB SERF 0y (6 N) 15 B B O x

(i om) 2 FR REK R M ABER R
YN y(N) y(N) ¥

] sem) 0| T AL

A B c

xem)

11 fE 4§46 ABCD %2R BD #7148, 4 C ‘E;ﬁ
E 4k, BE 32 AD F 45 F, B 81 £ BDC =62°, Wi £ DFE ) £ 3
bl

A31°
B.28°
c.62°

: ‘ c
i‘—i@ﬁ B.C MRS N

% AABC 5 AA'BCIX T P
: y




[image: image3.png]= HeE(AKELNE BN st 5

13, SRR ca'b -ab’ = s}

AT OBAR K T E TS} B gy 1 O, D = 5
R TR 0 Ry UL R S ————
P, X ORI

15. 3 x M—TE Y B X+~ =0 AT IR ke . .

CEUL I Y

16. £50,A.B.C.D R HHIEH y =

RETUMSHOR CBLRED)  SH SRR
B A B, LA B B 00 I T (0
1) A 2 — B PR, LRI
MY (B RBAE) , ML IS IR AR 5
B = MRHGAIR). ot =

= REHE (AR S 0E K44 S RERS S ENXFRRRAERSR. )
V7. (AN T 5)

B 1= 0125 - (x-3.14)" X ()%

18. (A/ MBS 9 5)
0P, 5347 ABCD JE¥15 P
LAED = £CFD.

HTEBN:
4807 g3
SERRK) ;





[image: image4.png]e | masm e | W% MR GRS
1 |47.5-59.5 0.05 12
2 |59.5-71.5| 4 | 010 10
3 |71.5-8.5 a 0.2 8
4 |83.5~95.5] 10 | 0.25 6
s 195.5-107.5 b 3 N
6 2
0

107.5~120| 6 | 0.15

&t bl L0 Ts 95 715 85 953 1005 12y,

IR R R ME T )

() EFSH RN =

(2) EMARNAFII 200 ¢B(¥B]5ﬁw A) Mﬁ(ﬁiﬁ#&m 108 4+ KA ERHE
£ FHREOARSN_ 2 ARLENRE, Fiit R M AREIN, B
e )

(3) AT SR . i i

20. (F/MVERS 9 4)

R RRATTE I 3 O RRE, KTHE AC IO
% 11 %, ATHF AB S54THE AC 936/ LA = 120°, BEXTR
FHETEATRL, ZEAE | R4 KR DE 04 18 K, D
EFIALM G BT B MOMA A BN o 1B, H tana =6,

w0 =3 RATFF AB BKIE.

21. (A/MERS 105D
SN A\ PR snw. A TS FHNIE 644505 B L0
B ELSFHLI 6L 2100 5.
E an RABRRRG T





[image: image5.png]B % (#6047
VRN A 4 VS 6 5, 3424 9. )
2 BT x A ox’ +bx+ 1 =0 LY x
+1=0 PR AN
23. 4B, LA AB 2 #4289 OO B> O B2k | MFERS
OE=3,00 #y¥%f r=2, itk AB REMFHE [, 334 A.B
ST L R, /25510, DCMMATE ABCD )

%0 =2 7B a(x +1)7 +b(x+1)

EEMRAM Y A '
24 BRAABC #9=3t1 a.b.c M a +b’ +lc~61 428 =4 /a1 +10b, | AABC HIShiE
B =

25. W0, By = ~x +1 SEARMAHZT A,
B H6ELBL OA S n 4, 4L AASIN P Py B,
Py EBAGHRIE x MNERS HIRTR AB T4
Tl Ty, Ty 5,8, o, S, B BIROR
RUAT,OP, Rt AT,P,P,, -, RUAT, , P, ,P, , M B,
JUS, +5, 45, 4= 48,

ERE (KM NE, G 12 5,536 5. )

26. 4, LA Rt AABC @910/ AB 4 H#24F OO % #43f AC F 4 D, it B> 0 L
OE//AC,% BC F 45 E, #1% DE.

(1) 2415 DE 500 f B R H 9Bk ;.

(2)3RiE :2DE° =CD r btk





[image: image6.png]B M a,b, o) RN G max 4, b, o) BTEZA
SePRAR WM -2, -1,0) = - L,mex| =2, - 1,0] =0, max | -2, - 1,a] =
o (az-l)
-1 (a<-1)
MRFE:
(1) 035 M| 8ind5° c0s60° ,tan60° | = B max[3,5 ~3x,2x -6} =3, 0 x WK
A, s

(2)HR2 - MI2,x+2,x +4] =max|2,x+2,x+4] Rx ffl;
(3) R M(9,x* 3x~2] =max(9,x 3x=2] 3R x Myfi.

25, 008, BN y <o +hx -3 5 x ST AC-3,0) M B(1,0) Ky HFA
ALK CAF OD/x 8 ZRBATAD,

() RMBREWR: 4

(@B Ky =m( -3 <m <0) HHBLAD BD AT G.HBIA AL G AfEEGLx T
B AL H A HE Lx 84 F RIS GEFH (9RATTRY

() HALy =k + | SIS ABCD S IS, BUHIN S, 81, LS, : S, =

415, Rk W &





